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6. 1] 41l 4,200 4,200 0
4,852 9N & 12,240 12,240 0
1. 3R89 12,240 12,240 0
1. [z]gtaAgnstA < 12,240 12,240 0
1.9 Rk=8-] 3,040 3,040 0
2. g 6,300 6,300 0
3. HIE TG 2,900 2,900 0
6.3 AnkE3 159,023| 157,009 2,014
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RS 7] A BaH] 0 -120,0009 %14 = -120,000
fﬁzl%ﬂi# 2 A HAL L -222,8009 992,000
W8 7kan] 0 -800,0009 = -800,000
3. [Fr1HAAEd 10,800 9,300 1,500
171 A 222491 1) 1,500 1,500 0
2. gk g 500 500 0
3. 95T 2,100 2,100 0
4.9]H] 3,500 2,000 1,500 | #hfi &&= n] ¢ 50,0009%303]= 1,500,000
5. 159 H] 3,000 3,000 0
6. A RH T Fx1H] 200 200 0
2,414 ] fA 94,435 95,089 -654
1.3 A A g u] A 94,435 95,089 -654
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970 1 -300,0009#14]= -300,000
2.4k 27,923 25,266 2,657 AT LRFE Y 1 2,657,000 x12= 2,657,000
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1.7]1ZHA 2 24491 7 1) 240 640 -400| &1 515 1 -400,000*14]= -400,000
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